


NAME…………………………………………………ADM NO…………..CLASS…………

TERM 2 END TERM EXAM 2012
MATHEMATICS FORM 1
100 MARKS

ATTEMPT ALL QUESTIONS

1) Write the following numbers in symbols.

a) Five hundred and ninety million, seven hundred thousand, five hundred.		(1mk)




b) Sixty five million, two hundred and ninety two thousand, four hundred and forty four.													(1mk)




2) Find the product of the total value of digit 3 in each of the following.

a) 3,486,783										(2mks)






b) 48,673,433										(2mks)





3) Divide the following numbers by 11 and give the quotient only as the answer.

a) 6,493											(2mks)



b) 73,350											(2mks)


4) Find the greatest number which when divided by 181 and 236 leave a reminder of 5 in each case. (Hint: Subtract 5 from each number)						(3mks)












5) Arrange the following fractions in:

a) Descending order

i) 13/15,  2/3,  7/8										(3mks)



ii) 4/9, 7/18, ½, 2/5										(3mks)



b) Ascending order

i) 5/6, ¾, 11/12, 2/3										(3mks)



ii) 7/9, 11/3, 5/6, ¾										(3mks)



6) A dressmaker buys 45 rolls of dress material, each 3½m long. How much does he pay if the price is shs.220 per metre?								(3mks)








7) Simplify by use of common factors

a) 18ar – 18am										(3mks)
     9ar – 9am















b) 3bx – 3by + 4ax – 4ay									(3mks)
                x-y













8) The surface area of an open box of side a, b, and c centimeters is given by A=2b(a+c) +ac. Find A if a=40, b=30 and c=20.								(2mks)










9) Evaluate the following

a) 61/4 ÷ 8/13 x 8/13 of 26/52								(3mks)















b) (5/7 x 2/3) + (5/6 – 8/9) ÷7/15 of 5/6						(3mks)















10) The radius of a wheel is 21cm. Calculate the circumference of the wheel.	(2mks)











11) Find the perimeter of the following figures.

a)											(2mks)










b)											(3mks)











c)											(3mks)











12) Find the volume of a cylinder with radius 14cm and height 10cm.		(2mks)








13) Jane’s height is 556N. What is her mass in kg? (Take g=9.8N/kg).		(2mks)













14) A cylindrical milk churn contains 15 litres of milk. Find the density of milk in g/cm3 if the total mass of milk in the churn is 14kg.						(3 mks)













15) Find the area of the shaded region in each of following. All dimensions are centimeters.


a)											(3mks)













b) 											(3mks)




















16) Using the mathematical tables find.

a) The square of the following numbers.


i) 0.06251										(2mks)








ii) 986.1										(2mks)










b) The square roots of

i) 6.12										(1mk)





ii) 0.05131										(2mks)








iii) 601.31										(2mks)










17) Four light signals are programmed at intervals of 40 seconds, 50 seconds, 60 seconds and 75 seconds. What is the earliest time they will give out light signals simultaneously if the last time they did this was at 8.15 am?						(3mks)















18) A minibus had 23 passengers at the beginning of a journey. Twelve passengers alighted at the first stop while 9 boarded. Six of those who boarded at the first stop alighted at the second stop 12 got in. The minibus did not stop again up to the final destination. The charges from the starting point were shs. 50 up to the first stop, shs. 70 up to the second stop and shs. 85 up to the final destination.

a) How many passengers alighted at the final destination?				(2mks)













b) How many passengers were ferried by the minibus through the journey?		(3mks)















c) How much money was collected during the trip?					(3mks)









19) A rectangle measures 18cm by 12cm.

a) If each dimension is reduced by 2cm, by what percentage is;

i) the perimeter										(3mks)














ii) the area of the rectangle reduced?							(3mks) 














b) If each dimension is reduced by 2%, by what percentage is:

i) the perimeter										(3mks)









20) Find the surface area of the following figure. (dimensions are in centimetres)		(6mks)
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